
342-505 HD Tire Swivel 
 Rev 03.24/03 

 
 
 

*Heavy-Duty With Rubber Boot Which Shields the Universal Joint 
*Complete with Grease Fittings for Easy Maintenance 
*Three-Point Mounting System Reduces Tangles and Pinching 
 
 
 
Includes the following hardware: 
 
4-116-618 3/8” x 4 ½” Hex Bolts 
8-316-601 3/8” Flat Washers 
4-226-601 3/8” Lock Nuts 
2-196-613 3/8” U-Bolts for 3 ½” O.D. Top Rail 

 
 
 
Hardware is supplied for mounting on wood top rails (use flat plate) or 3 ½” O.D. pipe top rails (use U-
bolts) 
 
Multi Axis Swings: 
 
The Use/Fall Zone should extend in all directions the length of the swing plus six feet.  The six-foot 
minimum fall zone from the supporting structure also applies, and may overlap the six-foot zone of an 
adjacent swing structure. 
 
General Maintenance Instructions: 
 
Check MONTHLY for loose bolts, damaged or broken parts.  Tighten and/or replace immediately.  On 
swings and any equipment that uses S-hooks and/or swing hangers check the bearing surfaces for wear.  
Replace any parts that show a reduction of 25% from the original size.  Check swivel assembly to make 
sure it is full of grease, if not fill with grease to prevent excessive wear on bearing. 
 
1 CTN. 1 total piece Wt. 10 lbs., Class 70 


